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Read the following sentences and answer the

PART -1: GENERAL ENGLISH

questions that follow. Choose the right answer and

mark it.
1.  Itold you times not to come late.
(1) anthousand (2) athousand
(3) thethousand (4) thousand
2. She has been absent three days.
(1) for (2) since
(3) from 4) to
3. Sit quietly,
(1) Canyou? (2) Can’tyou?
(3) Willyou? (4) Won’tyou?
4. Raviruns fast.
(1) Noun (2) Pronoun
(3) Verb (4) Adverb
5. Let the wall be
(1) build (2) built
(3) builded (4) building
6.  Identify the number of syllables in the word ‘right’.
(1) mono 2) di
(3) tri (4) poly
7. It’s important to on time.
(1) Show off (2) Showup
(3) Showof (4) Show
8.  Find the odd one out.
(1) mood (2) book
(3) look (4) took
V-General English 3
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9.  Find the silent letter in the word ‘muscle’.

() s (2) e

(3) ¢ (4) u
10.  Which letter is stressed in the word “ability’.

(1) a 2) t

3) 1 4) b

For [Q.No. 11 to 20]: Read the following passage carefully and choose the correct answer to the
questions given after.

Light enters the eye by refracting or bending, as it passes through the cornea. Light rays
then pass through the opening into the eye known as the pupil. The pupil size is cont.rolled bya
muscle known as the iris. The pupil becomes smaller when in bright area and larger in the dark
area. After leaving the pupil, light rays are refracted once again as they pass through the convex
lens of eye. Light rays continue travelling through a jelly like material called vitreous humor. An
upside down image is formed on the back of the eye known as the retina. Cone cells on the retina
interpret the colour of the image and rod cells interpret the black and white colours. Lastly the
image is taken to the brain for the image to be seen correctly.

11.  Light enters the eye through the
(1) pupil (2) cornea
(3) muscle (4) iris

12. Which controls the size of the pupil?
(1) iris (2) cornea
(3) eye (4) light

13. When does the pupil become smaller?

(1) largearea (2) small area

(3) darkarea (4) brightarea
14. Name the organ that light passes through from cornea.

(1) cone (2) iris

(3) pupil (4) convex lens

et it ar— i ———— i ———

e
e e

15. Anupside down image form on

(1) convex lens (2)  cone cellg

(3) rod cells

(4)  reting
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16. Jelly-like material in eye called the
(1) Vitreous humor (2) Cone cells
(3) Retina (4) Ins

17.  Antonym of ‘Concave’

(1) cornea (2) convex
(3) cone (4) lens

18. interpret the black and white colours.
(1) Rod cells (2) Cone cells
(3) Pupil (4) Retina

19.  What is the noun form of ‘refracting’.
(1) Refracted (2) Refraction
(3) Refract (4) Refractory

20.  Supply the missing letter to the word “Vitre _s’.

(1) au (2) eu
(3) ou (4) i
21. Choose the wrongly spelt word.
(1) elaborate (2) elocution
(3) Aloquent (4) eternal

22. Choose the parts of speech of the word ‘Pageant’.

(1) noun (2) adjective
(3) adverb (4) verb

23. Cartography means writing of
(1) poems (2) cartoons
(3) maps (4) novels

24.  Choose the right meaningful word of the phrase ‘of a good sound’.

(1) symphony (2) euphonious
(3) magnanimous (4) loquacious
V-General English 5
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25.

‘Mark Twain’ is the pen name of

(1) Samuel Langhome Clemens (2) Samuecl Taylor
(3) Keats (4) O.Henry
26. Who is the author of the novel *The Adventures of Tom Sawyer’?
(1)  William Wordsworth + (2) Henry
(3) Mark Twain (4) Sarojini Naidu
27. Choose the tense of the following sentence.
‘He’ll give you money when you come next Saturday.
(1) Simple present (2) Simple past
(3) Simple future (4) Present perfect
28. Identify the correct interrogative sentence.
(1) HasIpassed the test? (2) Have I passed the test?
(3) ThetesthasIpassed? (4) Thetest have I passed?
29. Choose the correct sentence.
(1) Tambelieving you (2) Iwasbelieving you
(3) Ibelieve you (4) Ibelieveinyou
30. Romantic movement in English literature is started by
(1) William Wordsworth (2) Henry Wordsworth
(3) Aldous Huxley ' (4) N.R.Narayana Murthy
V-General English 6
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PART -1I: ECONOMICS

31." Thelaw of Equi-Marginal Utility is based on
(1) Ordinal Utility (2) Form Utility
(3) Service Utility (4) Cardinal Utility
Jd3rdod pIodo AR WEEHASH?
(1) &858 Braso (2) &rd HRTeBB0
(3) T PRrEssw (4) 5835 PRrassw
32. The functional relationship between the changes in income and the quantity demanded is
known as '
(1) Income Demand (2) Price Demand
(3) Cross Demand (4) Elastic Demand
IVBrATdHo sodSrod T Fhfar B HH0Sra 8 Jo¢s D) doworr)
808
(1) smcH &asrob& (2) &8 a0
(3) =egods dldrobk (4) g8 adrob
33. The law of variable proportions operates in
(1) Short period (2) Longperiod
(3) Very long period (4) Specified period
$0) 598 &eé@Hwo D HA BXH?
(1) Bgoy ste0e* (2) ég)_swvo@‘
(3) @9@5% s*00e* (4) @8g8 scwos®
34. Who introduced the concept of Quasi-Rent?
(1) J.S.Mill (2) Alfred Marshall
(3) Adam Smith (4) David Ricardo
885 wb¥ brrosd) HIF DS T
(1) JS.S (2) ©SE& S¢S
(3) w8 & (4) @26 o5°C
35. Under perfect competition the position of MR curve to the axis is
(1) Vertical (2) Parallel
(3) Movingupward (4) Horizontal
Bodrd F8S* MR Sgo & (808 ddorm Hodb.
(1) QeosHm (2) JdrosdSom
(3) BE&&Sdo (4) ogom
V-Economics 1
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36. The law which states that the response of output if all inputs are increased in a fixed
proportion is known as

(1) Law of supply (2) Lawofdemand

(3) Law of variable proportions (4) Law of returns to scale

D dr@o P5Eo ¢8)8 85 oBI wf VTS DoAINYW, SET K &S
EFYF) Bo05Q) BenHHHod?

(1) JBon Jorgo (2) &Srok Jom@o
() S50y 5 &g Hoswn (4) S555% ©200800 BAHT® PSS

37. The economies which are open to a single firm are known as

(1) Internal Economies - (2) External Economies
(3) Technical Economies (4) Managerial Economies
28 D0Y 885 &G JH0Ired) DoDSHIE AEES WO JH0erd?
(1) ©odds waren (2) wrdd eoren

(3) o388 wmen (4) dger wTren

38. The supply function is presented in which of the following form?
R0 @) & (Bod o BODIWY).

(1) Qx=f(Py,Py,FT,E) (2) Qx=f(Py,Py,ET,G)
(3) Qu=1f(Py,Py,F0,G) (4) Q=f(PyPy,S,T,G)
39.  Who wrote the famous book “The General Theory of Employment, Interest and Money™?
(1) J.M.Keynes (2) Alfred Marshall
(3) Robbins (4) Paul A. Samuelson
“ebgher, 5G $o8o%n (BSgo BooE) HHoE DIToSH0” ©lo QTFR) EQoDS $g8?
(1) JTMES (2) ©SRE& rES
(3) ody (4) S AFSnSHS

40. Monopolist charging different prices for different units of same product is known
(1) Technical Discrimination (2) Personal Discrimination
(3) Use Discrimination (4)  Price Discrimination
R Fgagod’ wBngomrtd, JAE DARFRT oL DI SE0% ©)aR) DSotrd:?
(1) &odag 25§ (2) Sg8rs osg
(3) NRrH DSE (4) &6 5%

as
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41. The change in quantity demanded of one good in response to the change in the price of the
related good is known as
(1) Crossdemand (2) Incomedemand
(3) Price demand (4) Demand function
& 806 TES* I PEgHToDH, JoE SNIo §ES° STy Srdne o 5 ESrobst
5T Sy BdcHEN0H?
(1) =agods d3rob (2) smad &Srod
(3) &8 ddorob (4) &5rodh o
42. Transformation of inputs into outputs is known as
(1) Distribution (2) Exchange
(3) Consumption (4) Production
GENETOH GHAT 73y HECHDK Bootrd?
() Hoed (2) Sr8ES0
(3) dAR>Ho (4) &8
43. Dividing a given activity among the workers is known as
(1) Specialisation (2) Capital formation
(3) Social capital (4) Division of labour
2.8 HIS® 578 o0 DEHSHTR) Dootrdd?
(1) ©8g888mo0 (2) Soreodd dEEwo
(3) &otnE Soredso (4) o deess
44. The income which is left with the individual after repayment of all the direct taxes 1s
known as
(1) Per capita income
(2) Personal income
(3) Gross income
(4) Disposable income
2d0)en BYoD) Bodrr $5g8 &K ADASNR) BE A5 Q) D300 E?
(1) S0d8 eoroHdn
(2) Sg8Hd esmradnn
(3) Sze e553° 0500
(4) D30 DABrNOBB eoraio
V-Economics 9
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Who said, “Economics is the study of mankind in the ordinary business of life™

(1) Adam Smith (2) Alfred Marshall
(3) J.S.Mill (4) DavidRicardo
"B3088 SEEIS SrSS (HSES K000 wErgesrdo Tod oafoh edr@in” vl
TN
(1) sd & (2) wSHE rdS
(3) 1S. S (4) BI& o5°8
46.  Who wrote the book “An Essay on the Nature and Significance of Economic Science”.
(1) A.C.Pigou (2) EdwinCannon
(3) Lionel Robbins (4) Jacob Viner
TOgTR Sardin @EnsgEn Ty BdodS 58
(1) A.C.5F a5 (2) A&IS EHS
(3) ORrIS oAy (4) =88 IS5
47. Want satisfying power of a commodity is known as
(1) Satisfaction (2) Utility
(3) Consumption (4) Money
58 S0 ogor §08e0 Sy Do)
(1) &y (2) BBoresdn
(3) AAR>Ko (4) &S50
48. Law of diminishing marginal utility is known as
(1) H.H. Gossen's first law (2) Marshall's first law
(3) J.R.Hick's first law (4) K.E.Boniding's first law
§e5arod HRras DErosrds $8BNE W
(1) HHrmrs @68 do@hn (2) 3085 W& JomEgdn
(3) JR. 7§ @& dr@dn (4) KE. 0808 08¢ dovedo
49. Indifference curves are always to the origin.
(1) Convex (2) Concave
(3) Tangent (4) Positive
Goed 3§ Speo Jodyd
(1) Boowrs o (2) HersSom
(3) JSrod8sn (4) &ard¥o
V-Economics 10
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50. Incase of relatively elastic demand the numeric value of elasticity of demand is
Fogor A 83ro& DAcHoS* ASroh BwE) PEFIES BwE), Joary e

(1) =1 (2) =1
(3) =1 (4) <1
51. In case of necessaries the elasticity of demand will be
(1) Unitary Elastic (2) Elastic
(3) Inelastic (4) Perfectly Elastic
©dgIV8 SQIo IXHoS' &lrob ¢S SEc0 e Hodnod?
(1) JSrS TrgEusson (2) og8ewS0
(3) wogsusw (4) Boyg arg8usSn
52. When was the planning commission replaced into NITI Ayog?
(1) [1stJanuary 2013 (2) 1stJanuary 2012
(3) IstJanuary 2015 (4) 1st January 2014
D D0IHESD PeTr@E J0HBW, I8 WRFAT S8y BoBIE?
(1) =358 1, 2013 (2) =358 1,2012
3) =358 1, 2015 (4) =358 1,2014
53. Whatis the example of an Agro Based Industry?
(1) Sugar Industry (2) Iron and Steel Industry
(3) Mineral based Industry (4) CoalIndustry

& (Bod THS' SgHFoH Wil JHOFDHH GTirden.
(1) Dodzy HoESo (2) 25050 DB &Ly JBEFD

(3) pA=TE HOFS (4) &y SoES:

54. Mahatma Gandhi National Rural Employment Guarantee Scheme was launched from
(1) 2nd QOctober 2008 (2) 2nd October 2001
(3) 2nd October 2005 (4) 2nd Qctober 2009
éa?.’réémoé 2B (oo G T Do IJyk FEodorrdo?
(1) og=62,2008 (2) o865 2,2001
(3) og=62,2005 (4) 86 2,2009

55.  Which country was the first to introduce the concept of Micro Finance?

(1) Bangladesh (2) India
(3) Japan (4) Srilanka
DE PTG BITLES BnEE ddo

(1) womdd (2) =mobasSr
3) 2o (4) @eos

V-Economics 11
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56. National Income is estimated by

(1) RBI (2) CSO e
(3) NITIAyog (4) Finance Commission
80D B cHING voST Iaswardd

(1) s69.0 (2) 5.008.8

(3) @ vIrf (4) 8§ dodo

37. One of the characteristics of a developing country is
(1) Better quality of life -
(2) Lowlevelof unemployment
(3) Abundance of capital and technolo gy
(4) Predominance of agriculture
VRSB Bodes) B¥o R¥), 2.8 of0o
(D TS BIS HS3re0
(2) VEgOY ARG gHE0
3 é&’)oag@aé roEdo, FoieE S8zzd0
(4) Sg5csh (@osgsn

58. Sarva Shiksha Abhiyan was introduced in the year
DE¢ 3" OHATS @ Ho3B)Boes® SEERTWY
(1) 2001-02 (2) 2002-03
(3) 2003-04 (4) 2004-05

59. The second five year plan gave importance to

(1) Industrial Sector (2) Service Sector
(3) Agriculture Sector (4) Private Sector
BodS HoSSE Berds O o8 FTEgE mand?

i (2) S Sorrdg
(3) 5§é@o$odon'°§)§ 4) @35 Som8

60. Inwhich year was the Government Nationalized 14 Commercial Banks?

f.

Q) D05&)06Z0G* @ehdto 14 ardag wrsofhess 8o Bood?

(1) 1948 (2) 1969
(3) 1984 (4) 2014
12
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61. Calculate the Range of the following data:
20, 25, 29, 30, 35, 39, 41, 48, 51, 60 and 70.

& (808 &aodods” gl fHedotod

20, 25, 29, 30, 35, 39, 41, 48, 51, 60 So805x 70.

(1) 50
(3) 20

(2) 70
4) 90

62. The contribution of Andhra Pradesh to the country's marine export is nearly
3% BI0E D20V WoHAT DI Eo TETYT

(2) 50%

4) 60%

(1) 40%
(3) 30%

63. Which district has the highest irrigated land to the tune of 4.38 lakh hectors

(1) WestGodavari
(3) Guntur

(1) 3% Aoss
(3) HKootarsH

(2) East

Godavari

(4) Kadapa
& 808 TES® D Ber wEgBE FHAB K T 4.38 vfe dEoen EOA Hob?
(2) &rdyy Forsd

(4) &5

64. 'A flow of consumption without reducing the capital' is called

(2) Eco-System

(4) Sustainability
‘Boredad) EfASiE0E IIBrE BI) FSFN0BETR) IB00LrEH?
(2) ©36 eaégé(g

)] QY &0520

(1) Ecological Balance
(3) Conservation

(1) Sorgddes dSodregsn
(3) HB88owsso

65. The process of integrating the domestic economy with the world economy is called
(2) Privatization

‘(1) Liberalization
(3) Globalization

(4) Integration

ad 'e_sgé :’:g:’:é:ﬁa, @Hos &sgé 25853:865" WJ0FNID T PBHD D300 S ?
(2) Cgﬁéﬁs’dm
(4) D8gswo

(1) J89E6m

(3) BJodES

V-Economics
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66. In which year the industrial estates were established?
FOTDE Tdos D bosgEinst doytn BT EH?
(1) 1948 (2) 1951
(3) 1961 (4) 1955

67. Inwhich year the Rythu Bazars were introduced?
B wwrbo HIF DG doSE)ddw.

(1) 1999 (2) 2005
(3) 1991 (4) 2014

68. Who is the father of Green Revolution?
(1) Dr.M.S. Swamynathan (2) Prof. Norman Borlog
(3) B.F.John (4) Dr.Kurien .
588 DS DESITol
(1) Dr. MS. &S 2) @60 F°GhH
(3) BFaS (4) @.5800S

69. Whatis the variety and variability among living organism called?
(1) Eco-system (2) Ecology

(3) Biodiversity (4) Biological system

oS’ D80, BIEIHIST IPK) Herod ©oB EOD ISo0ertd?
(1) eS80 $g58 (2) gz

(3) #353655% (4) 255 25550

70. The natural resources which can be used permanently without depletion are called
(1) Conventional Resources d (2) Renewable Resources
(3) Non-Renewable Resources (4) Environmental Resources
Q08 IARBTAONS Jerodd SSHEe BEom Jens oR 35805 DZ0ersr?
(1) &FoporodH $58en (2) @ﬁmégééocﬁog JI3&en
(3) HI3oHBo 570 3% (4) 0880 SS5S0e0
V-Economics 14
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¥il.

PART-11I : COMMERCE -1

Business is a

(1) Non economic activity (2) Political activity
(3) Social activity (4) Economic activity
Tgrdo o3

(1) «g388 sEg8erdo (2) oz8chH s*dg8erdo
(3) d>Sr28 sEgEerdo (4) ©8¥ s*Egerdo

Which of the following is feature of business?

(1) Profit motive

(2) Deals with goods and services

(3) Continuity in dealing

(4) Allofabove

& 808 TES® Fgrso DY), 0o J6?

(1) oreag

(2) SYen 500050 IS Jowodo EDAGINOGENE0
(3) Qorerosomr &S0

(4) 239

73.

Example of Genetic industry

(1) Agriculture (2) Hunting

(3) Plant and nurseries (4) Tourism

PRI HBFE G S

(1) Sgdarasoo (2) Iersdo

(3) B0 eo b SGden (4) JSE DIEASTBen

74.

Entrepot Trade means

(1) Production of goods in a country

(2) Selling goods to one country

(3) Buying from one country and selling to another country

(4) Alltheabove

578 S8¥o odm

(1) B¥oes® 5&;&3@

(2) $:03308 3708 wdydo

(3) =8 %0 S0l FQ 5H0BNE BTA8 widyko

() B3

V-Commerce-I 15
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75.  Wholesale Trade means
(1) Buying of goods in small
(2) Selling of goods in small

(3) Buying and selling of goods in large quantities

(4) Allthe above
K 3880 ol

(1) 0% Bngos® e Floffen
(2) D& Ingoss® JHe wlsTen

(3) ¢ Ingos® Ko Foffer 0D ©30)570

(4) 23

76. Sources of water transport
(1) Rivers
(3) Canals
RO JTETE0 BT
(1) Scdoexn

(3) srenden

(2)
@)

(2)
(4)

Seas
All the above

dAETen

29

77. Banks, Insurance and Transports are example of

(1) Service industry

(3) Construction industries

(2)
(4

Genetic industry
All the above

argodoen, HIFHoPeo, Hodw Sreardoged A8 S5 Ee?

(1) 2o JB8FS
(3) ooy HOE™

(2)
4)

2258 NGRS
—:.363)&

78.  Which is the oldest form of business organisation?

(1) Company
(3) Partnership

& Bob TES* @8 YT EIDS Tgrd do

(1) o

(3) 3;‘-?%?3’5;635:330

V-Commerce-1

(2)
(4)

Yo

(2)
(4)

£

16

28

Sole. pgoprictorship

Cooperative society

?

Fod TgdrEin

A o ., "
W5 Hodewn
[%8]

e e
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79. The liability of Sole Trader i

1) Limited
v (4)  Allthe above
rod a“gé"d%&) SBE) e i
1) J8e8S00
M d (2) ©3808350
(3) 857

4) 23 Q)

80. What is the minimum members required to form partnership?
rigSog Tgrdo BP80D0SHLE 595653 D D

(1) 1 @ 2 alats
3) 3 @ .4

81. Indian Stamp Act formulated in which year? |

6805 FoDe Sho 9 RoIE)80S* Scsrdy Bobio 2BR0E?

(1) 1899 (2) 1898 (3) 1897 (4) 1896
82. Indian Partnership Act came into force 7

8BS airgiog $80 O JosHBo Kod ©50e0S HHB?

(1) 1930 (2) 1931 (3) 1932 (4) 1933
83. Active partner also called as

(1) Working partner (2) Sleeping partner

(3) Nominal partner (4) Profit partner

S(8asd g &8 Ko S08BnE 0
(1) 52Bosn e
() THSrEY iyl

(2) IS ik
(4) orgrod® ik

84. What is maximum members in Public Company?

(H 7 (2) 50 (3) 100 (4) Unlimited
2DE Ko K03 dehge Somg? )
(1) 7 (2) 50 (3) 100 (4) ©BBSSN

‘ 9
85. Which of the following is Government Company:
& 808 BS* HES ond 287

(1) RBI (2) LIC (3) NTPC

v-(:umm(‘l'(?(‘-l 17

(4 Ul
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86.

What is minimum members in private company?
(R3 EoudS*D €S Sehgeo dowg?

(1) 2 5% (3) 4 ) 3
87.  Which is the important cluase in Memorandum of Association?
(1) Name Cluase (2) Objective Cluase
(3) Office Cluase (4) Capital Cluase
ROFPIS HFoS'A @8 Supgd TF A6?
(1) &2Fgo0y 58 (2) Bgoire 58
T (3) sogoshy sE (4) Srodd 58
88. Entrepreneur is a
(1) Person (2) Organizer
(3) Leader (4) Allthe above
ASB@SrgE 28
(1) 358 (2) Sg8TvS0E
(3) Tod% (4) 23
89. Share holders are
(1) Leaders of the company (2) Owners of the company
(3) Creditors of the company (4) Allthe above
TErT 0 0008 ST S?
(1) 8028 Trodoen (2) 8028 cHadrsien
(3) BoN8 2emrsen (4) 23
90. Inwhich year does Micro Small and Medium Enterprises (MSME) Development Act came
into force?
ST DY) gy S8 PORL THO DY BJS ] S0H?
(1) 4-10-2006 (2) 3-10-2006
(3) 2-10-2006 (4) 1-10-2006
91. The essential commodities Act came into force
©dgdtd SNIO WO VLSS SQS QoI E80
(1) 1954 (2) 1955 (3) 1956 (4) 1957
V-Commerce-1 _ 18
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92.

In which year Consumer Protection Act enacted?

AIDrAT Do S8 B0 J JoSS)F0eS* ErFrobodss?

(1) 1984 (2) 1985
(3) 1986 (4) 1987
93. ATrade which take place inside the country is called as
(1) Home Trade (2) Foreign Trade
(3) Export Trade (4) None
3F 0T e S*He =64 $585°R) DS00erE?
(1) 282 S8%0 (2) 232 I8%o
(B) I8 S8%o (4) 28 5%
94. What is mean by online selling and buying?
(1) E-Selling (2) E-Production
(3) E-Commerce (4) E-Saving
BIBS rgT” (E0% JFTen BAOER) AS00erd
(1) E-od5s e (2) E-w€8
(3) E-5°%06) (4) E-saving
95. Name of the shares issued by the company to Directors.
(1) Preference Shares (2) Sweat Equity Shares
(3) Convertable Bonds (4) None
E0d BEEEKH 6T D Tired dHotrd?
(1) ©b8gH aréren (2) &5 &&8 Teren
(3) Sr&n%d wrody (4) 28 =%
96. Which of the following is Regulator to Control Indian Capital Market
(1) SEBI (2) RBI
(3) Government (4) None
TEEBI0St Sorods Sro) Ll doo@ois
(1) SEBI (2) RBI
(3) Pehéso (4) 26 s
V-Commerce-I 19
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yi.

Generally, Traders, Business people mainta

(1) Recurring Deposits

ined following deposits.
(2) Cash Credits

(3) OverDrafts (4) Current Deposits
FE oo, Sgten, Tgrdges & Bod Deposits 9 &0,
(1) 0580R Arztxn (2) ssa 4
(3) Basre dogen (4) $Botn BIREN
98. Principal of indemnity is not applicable to
(1) Fire insurance (2) Marine insurance
(3) Life insurance (4) None
 S[Y°8 drpodsn D DI $50ud?
(1) o) s - (2) d50E Hio
B) 228 oo 4) W s
99. Which Market provides Long Term Funds?
(1) Primary Market (2) Money Market
(3) Capital Market | (4) Goods Market
2 559 88508 oo DREFH0H?
(1) @EW0E S8 &5 (2) &85 &S
SHo S0 &

(3) BoroEs S50ES @)

Commercial Paper
All the above

§553Qp:i3e§ NHE
TQ;’JK)O)_

1974
1975

-

e ———————— _,‘_‘-".———'—_’_——’/

100. Which of the following is Money Market instruments?
(1) Treasury Bill (2)
(3) Call Money 4)
& 80B TS’ (8hg STTYE FEIS0 67
(1) B=6 &S (2)
(3) 55 S (4)
101. Inwhich year Bombay Stock Exchange was established?
Foeron F§ I8y od Q) DoI&Bos® TR0 E?
(1) 1874 ' (2)
(3) 1875 (4)
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102. Securities Contract Act came into force
?oéogaéfio ed)0d B0 wHens'AE ISYPI DoSd)EsEwn

(1) 1953 (2) 1954
(3) 1955 (4) 1956

103. Goods and Services Tax is a
(1) Indirect Tax (2) Direct Tax
(3) Local Tax (4) Allabove
S wdo )
(1) D d9) (2) ©Eg8 S
(3) L8 59 (4) 23

104. GST (Goods and Services Tax) was introduced in which country firstly?
(1) France (2) USA
(3) India (4) China
SQRI0 DM PITHYS Ioee ddo
(1) @& (2) oos
(3) =@odosr 4) 3>

105. Which of the following is Right of Consumer?
(1) Right to choice (2) Rightto sale
(3) Righttousage (4) Rightto gift
& B0B TBS* IIRBrETERD FE.
(2) o) ¥y,
(4) TSoWD T8y,

(1) D0DE sy,
(3) IIBrhacd TEY

106. Which of the following is recent Mode of Transport?
(2) Air Transport

(1) Water Transport
(4) None

(3) Rail Transport
& Bob a3e5* DB GRS STEr FER8S0?
(2) orodn daves

(4) 8 57

(1) z2e Sacer

(3) CTen Gareor
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i ich of the followi
107. Special Economic Zones (SEZs) Act was passed by Govt. in whic INg year?

858 ©g8 Dodeord Sipl) eIrdedd 5038850
(1) 2002 (2) 2003
(3) 2004 (4) 2005

108. Which of the following is Specialised Bank?

(1) EXIMBank (2) HDFCBank
(3) SBIBank (4) None

& 0d T8S* HEgE ergoso AT

(1) EXIMergo% (2) HDFCergo$
(3) SBlergos (4) 26 &

109. Advantages of E-Banking

(1) It reduces cost (2) Prompt service

(3) Any where banking (4) Allthe above

E-2rgo80f S0l &HRrKsm

(1) 85 Shous (2) d5w0s® EHIS Den
(3) 5BS argo8oh (4) 239

110. Debentures are which type of finance?

(1) Short term (2) Mid term

(3) Longterm (4) None

20BN @ FEIOMT SIRrEI%S 00?2

(1) 850508 2) S50y

(3) 845908 (4) 28 s
22
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PART -1V : COMMERCE - 11

111. Accounting is a process of
(1) Recording (2) Classifying

(3) Summarising (4) Allabove
@§ 0o | PRNS* o A8?

(1) ©s*goh (2) s ool
(3) SJ33=oh (4) 2SI

112. Find out the capital if Assets Rs. 1,00,000 and Liabilities Rs. 30,000.
& 808 T8e°, @‘é@oe) e &». 1,00,000 wdye dend & 30,000 & $Hdydo Sreldo

Qe Joes?

(1) 1,30,000 (2) 1,20,000 (3) 70,000 (4) 1,10,000
113. According to which concept Asset is recorded at price?

(1) Entity concept (2) Cost concept

(3) Deed concept (4) None

D S BEEsn e £F) $68 $3rco Tosrd?

(1) ®og arss (2) Sg0% WSS

(3) &gods eSS (4) 8 5%

114. Ifcash Rs. 10,000 withdrawn from Bank which account be debited?
(1) CashAccount (2) BankAccount
(3) DrawingsAccount (4) None
zrgods Sood &r. 10,000 823Dy D e DG BSrd?

(2) wrgod gree

(1) 568 gre
(4) D8 5

(3) o8 TrdésTO FE”

115. Which type of Account is capital?
(1) Personal Account
(3) Nominal Account
Sorersddon O ety BobIH?

(2) Real Account
(4) CashAccount

(1) Sg8n8 groe (2) o8 proe

(4) I8 proe

(3) ohirgd e
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; . Then Total Assets o
116. Ifcapital of the business Rs. 2,00,000 and Bills payable Rs. 1,50,000 J

(0 o 50000 @) Rs. 150000
(3) Rs. 3,50,000 (4) None o
Srosso Jend &r. 2,00,000 3o DR, $5.1,50,000 ®o0s Fgrdod” Jndo
BPO Jewd
(1) & 50,000 2) &= 1,50,000
(3) &-. 3,50,000 (4) 2B 570
117. Journal is
(1) Original Entry (2) Secondary Entry
(3) Both (4) None
DL VIT0 ABERS HRES0?
(1) &8 2y Hyssn Q) 5058 9LE0
(3) oo @) 96 s

118. Purchase Book Records
(1) Allcashpurchases
(2) All credit purchases of goods and assets

(3) All credit purchases of goods in trade only
(4) None of the above

Fhoffen HPgos® IBJ I3 Baro?
(1) oQ) s 3K& TR

(2) o) v&hH TR0’y Sobasw sen
(3) Tgarod8 BodS W) wHY SEVEN
(4) 2D A0 52

119. Contra Entries are passed only when
(1) Double Column Cash Book is prepared
(2) Three Column Cash Book is prepared

(3) Simple Column Cash book is prepared
(4) Alltheabove

262> B Dby $rs Bnto?

(1) Bod> Seoive S1ith o Satrtd Fhiasyes
(2) Sordhy SGd0 SHE HJEo S5 EEISTS
(3) =8 S35 Iy HIFo Sotirdd Tdbiadyds

(4) 233
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120. Purchase of machinery on credit
(h
(2)
(3)
(4)
cHo|E™R) VY P TRy
(1)
(2)
3)
(4)

Increase total assets

Increase total liabilities

Decrease assets

Increase assets and increase liabilities

&s:\’gu Lo STab TS
@530 RS
&9"‘0‘30 é(ﬁ@éo

&BKE&JQ’S‘ RGO SHdasw @63@6‘ &8

columns.

. In Ledger there are
BITS® Q) SKden odrron?

(1) 4 (2) 6
(3) 8 (4) 10
122. Which of the following is an example of current liabilities
(1) Goodwill (2) Creditors
(3) Debtors (4) Prepaid Rent
& 808 78S’ PRS VIYOK GTH
(1) K&IS (2) emrSsen
(3) =2eHdgen (4) Swokr BoAILT
123. Sales Account will always have
(1) DebitBalance (2) CreditBalance
(3) Equal Balance (4) Aboveall
wiFe FE J Jug SFDNCR?
(1) 2398 dexg (2) B&& deog
(3) J¥8rS Qg (4) 23IQ
124. The Debit Balance of Cash Book is
(1) Asset (2) Liabilities
(3) Expenses (4) Income
5665 HHES'D BNE Jugdd J dFormr AT d?
(1) o3 (2) ©dy
(3) moye» (4) woodren

—
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125. Prepaid insurance is a

(1) Expenses (2) Income
(3) Asset (4) None
Swodorr BOoAS DI
(1) Sgosoo (2) woafo
(3) o3 (4) 28 5%
126. Carriage outwards is debited to
(1) Trading Account (2) Profit and Loss Account
(3) Balance Sheet (4) Noneabove
VINFO ST @ e RDES BFG?
(1) 3889 we (2) oddTo e
(3) ©R odye 5 (4) 8 5%

127. Account Sales is statement prepared by whom?

(1) Consignee (2) Consignor
(3) Seller (4) Agent
A DK ST ITBEKH IS Sosrds BARG?

(1) 8329 (2) §5p6
(3) o3 (4) dBo&S

128. Consignment Account is a

(1) Personal Account (2) Real Account

(3) Nominal Account (4) Profit and Loss Account
EQDIROLD TS ) TEE BoBIH?

(1) 25848 gre (2) TYIE gre

(3) THErEH we (4) ousze re

129. Which of the Accounts prepared by Non-profit organisations?

(1) Receipts and Payment Accounts (2) Incomeand Expenditure Accounts

(3) Balance Sheet (4)  All the above
:)‘-53‘_665(5 K)oc;oeo B5rE WO rarern

(1) Sdrh BQO'J?)O P (2) oo 5§O§J‘® S
(3) o wHYO D¢ (4) DI
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130. Donations for computers is shown on which side of the Balance Sheet?

(1) Assets Side (2) Liabilities Side

(3) Payments Side (4) None

Sogd FE8 SYI doreresH ¥R VIO HGS* ko IYI S Foird?
(1) oHo 393 (2) oo IS

(3) Boho 3HS (4) 28 5

131. Kavya Trail Balance shows closing stock of Rs. 3,50,000. It will be recorded in
(1) Debitside of Trading Account
(2) Creditside of Trading Account
(3) Credit side of Profit and Loss Account
(4) Assetside of Balance Sheet

5y wo8erreS” &, 3,50,000 Sx0A0) Do Qog SrYE)d. BAD & & SIrcd Basrd?
(1) S88Y yreves® @DS IS

(2) 368H wras’ &S 39S

(3) P Tras® o 39S

4) ea?g ©IYHEIS* SISSERSIOR

132. What are parties not involved in Bills of Exchange?

(1) Drawer (2) Drawee
(3) Agent (4) Payee
5889 Denos® Sowodo B8 558

(1) 8¢ (2) 584
(3) QoS (4) oor

133. Drawings are deducted from
(1) Sales
(3) Expenses
FodTbros & 8o TEST I8 Sod dpXd?

(2) SRR

(4) Sorogso

(2) Purchases
(4) Capital

(1) Q—péoy.;‘m
(3) wdyen
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Rs. 40,0
134. Purchases Rs. 2,20,000, Purchase Returns Rs. 20,000, Wages

00 and Sales 3,20,000

Find out Gross Profit.
00 A8 o o
& (8od T8Mod Spo e - A &> 2,20,0 QD TV,

&. 20,000, 38Ten &, 40,000, wsoysed 3,20,000. ;
(1) Rs. 70,000 (2) Rs. 80,00 .
(3) Rs. 90,000 (4) Rs. 1,00,0

135. Goods are purchased on credit for Rs. 5,500, Trade Discount is 5%. Find out Discouy
Amount
OHID §F) Bh% Jend &r. 5,500, 358D 8h0 5%. ShoP INEY SHF Bk,
(1) 250 (2) 275
(3) 300 (4) 325

136. Cash in hand Rs. 75,000, Stock Rs. 1,25,000, Liabilities Rs. 85,000. Find out capital.
VES® S5 &, 75,000, 3% 8. 1,25,000, ©Iye0 &, 85,000. Sorerddo dog?
(1) 1,15,000 (2) 2,00,000
(3) 2,85,000 (4) 2,15,000

137. Abill has been drawn on 27-6-2021 payable after 3 months. The maturity date of bill will be
27-6-2021 5 3 oo KebIHS Doy (THIFde Doy KD B8
(1) 30-7-2021 (2) 30-8-2021
(3) 30-9-2021 (4) 30-10-2021

138. Cost of Machinery Rs. 2,35,000, Scrap value Rs. 35,000, Life of Asset 10 years, Annual

Depreciation under SLM.

odo@o 8 Rs. 2,35,000, 6 dend &». 35,000 9 28 sl 10 Qoo
JHEEB a’agé’BeS‘ T0E SHhEe ESofr 8ot

(1) Rs. 12,000 (2) Rs. 24,000
(3) Rs. 20,000 (4) Rs. 48,000

139.

Find out Net Profit from the following,
Gross profit Rs. 1,85,000, Rent received Rg. 15,000, Salaries

Rs. 10 ,
& 8obd T8BH08 JEE Ty EHrSos, ,000

870 ogo &r. 185,000, 508 @ 6. 15000 g
(1) Rs. 1,70,000
(3) Rs. 1,90,000

@ 8. 10,000.
(2) Res. 1,80,000
(4) Rs. 2,00,000

_\\ -
\\_’/’/
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140. Profit and loss on Revaluation is shared among the partners ; '
(1) Old profit sharing ratio (2) New profit sharing ratio

(3) Capital ratio (4) Equal ratio
HI3ESorergolm et SYS o) BT SPA) 9 ddom HotBootrdd?
(1) &6 od3To ARG (2) F8 orgdizo A8
(3) Srodd I (4) HdrS dG
141. Which of the following is Rent Account?
(1) Personal A/c (2) RealA/c
(3) Nominal A/c (4) None
3 J T 5020800567
(1) 35858 gra 2) %8 wo
(B) THIrEY e (4) 28 s

142. Aand B are partners sharing profit in the ratio 6:4. They Admit 'C' for 1/4 share calculate
new profit sharing ratio of A, B and C.

, 8.6.1 9.3.1
(1) 20 20 4 (2) 20710 4
5 10.6.1 o N

) 2072077 (4) None

A 508050 B dQPS* ergren HohFotnd) rden o6 'C' I 1/4 arb agy FEm
BEYSoTK. 778 SrsS erFSro QG Jod?

y 3.6.1 5 .31
1) 20 20 4 (2) 2010 4
10 6 1
— 4) D8 5
3 30207 ) s

143. Raju, Rani and Ravi are partners sharing profits in the ratio of 3:2:1. If Rani retaire, what

is the ne"v profit ratio of Raju and Ravi?
oz, o°e3, 89 erered 3:2:1 AQBS® HothBotrd. v DD SHITS Tar, e

DS aéa)gtg

(1) 2:1 (2) 3:4 (3) 3:1 4) 43
144. In case of admission of a partner first account is prepared

(1) Goodwill A/c (2) CashAlc

(3) Revaluation A/c (4) None

T HIdo £%5050065° S0 Sosrdy Wasn grae
2) SKS gra
(4) 28 s

(1) A&as pra

2 - -y
(3) ujébu)ro’goém ara”

i —— et ot p _
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145.

Which of the following is not relevant to Single Entry System? '
(1) Both the aspects are recorded

(2) Personal Accounts arc maintained

(3) Less Expenses

(4) Suitable to small business

208 3 ITTIE Howodod JBEIB Q8?
(1) Bok woTod SIrdd VI

(2) 35888 rarosn Sr@d G
(3) & 388 g 98y 8893

(4) DK g8 I

146. Calculate the profit or loss from the following.
Capital as on 1-1-2021 Rs. 60,000.
Capital as on 31-12-2021 Rs. 1,20,000.
(1) Profit Rs. 1,80,000 (2) Profit Rs. 1,20,000
(3) Profit Rs. 60,000 (4) Profit Rs. 30,000
& 8od DIT® H00d o) B SQ) B owod.
1-1-2021 &8 Swreddo &». 60,000
31-12-2021 58 Sredso & 1,20,000.
(1) b &». 1,80,000 (2) orgdn &». 1,20,000
(3) er#sn & 60,000 (4) orgdn 8. 30,000
147. Companies Act came into force.
K00l $E0 OB HoBHED0.
(1) 1958 (2) 1957
(3) 1955 (4) 1956
148. Goods costing Rs. 7,500 were sold at 25% profit on selling price. The amount of salés
will be
Rs. 7,500 dendiie 26508 0S80 6 25% erers O L WRFO RISAE
w0&?
(1) Rs. 8,000 (2) Rs. 10,000
(3) Rs. 9,800 , (4) Rs. 11,000
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149, The eXcess price received over the per value of the share should be transferred to

(1) Calls in Advance Account (2)  Share Capital Account

(3) Capital Reserve Account (4) Sccurities Premium Account

S0 85 iros SoBd QHET) I S Dendso bl B3N I ek
50082

(1) &6 vevde gree (2) &b SrodsSo o

(3) Swress S22l e (4) %5080 ©HAoho e

I50. From the following information compute the Net Profit of a Trader under Single Entry
System.

Capital as on 1-4-2020 Rs. 50,000.

Capital as on 31-3-2021 Rs. 75,000.
Additional Capital Rs. 15,000.

(1) Profit Rs. 10,000 (2) Profit Rs. 15,000

(3) Profit Rs. 20,000 (4) None

& 808 dSZrwrdo $0d 2083 o wHHBoD SEK S0, ) Bor )
E0RS04.

1-4-2020 &8 Soaresso &, 50,000,
31-3-2021583 Soaredso &, 75,000
VAEJY SwreSo &r. 15,000.

(1) eraSo &». 10,000 (2) oo 8. 15,000
(3)  erefo &x. 20,000 4) 98 s
O00aa
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